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after upstream target – no scatter
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after downstream target – no scatter



scattered
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at detector – no scatter both (left and right)


scattered both (left and right)
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right      at detector – scat and no scat      left 

    left-right = up-down
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rotation angle for 10mGauss field      right  (down)            left (up)
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Left-right = up-down
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left-right = up-down pathlength
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same as above but very low energy region
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--the scattered from tar1 are in the left side (empty side) of tar2

--why does 0.2meV peak from scatters of tar1 develop in empty tar2 side?  What happens to 0.3meV neutrons?

--bump at 0.2meV is there in tar1 scatter spectrum already – why?  Below 305-310
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L,R detector Theta-rotation vs E and vs path length (6022,3,4,5)  L=Upstream, R=downstream
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